HEROES EVERY DAY

























SCRATCH-QUALITY SIDES YOUR CUSTOMERS ASK FOR OVER AND OVER AGAIN

At Basic American Foods, we believe there's nothing better than a really great meal, or the people who create them. That's why we've dedicated ourselves to **helping the heroes behind the food** (that's you) cook up more amazing meals in less time — every time.

FLAVOR IS ALWAYS FIRST.

We believe that food can't just be easy to make — it's got to taste delicious.

That's why all our sides are made with real ingredients that are full of flavor for unforgettable meals.

SIMPLE HAS NEVER BEEN BETTER.

All of our sides are scratch-made quality without the scratch prep. They're fast and easy to prepare, so you can serve consistently great tasting dishes in less time — and gain more happy customers.

VALUE REALLY MATTERS.

Our easy-to-execute menu additions have a low portion cost, and help you save prep time while maximizing storage space. So you can optimize your menu options, and your budget, for every service.

YOU'LL NEVER STOP CREATING THE FOOD PEOPLE CRAVE, AND NEITHER WILL WE

Tell us how we can help make your job easier, and your food even better. Contact us anytime to find recipes, request samples or share your recipes and ideas. **baffoodservice.com**











crispy-but-not-too-crispy

HASHBROWNS

- ▶ Perfectly crisp-on-the-outside, tender-on-the-inside, every time
- ▶ 3X More Convenient Faster grill time, higher yield and less storage
- No artificial colors or flavors, just craveable taste your customers love

"seconds-please"

MASHED POTATOES

A classic with options to satisfy every eater, every menu, and every operation

- ► Scratch-quality potatoes, that you can easily use in your own recipes
- ► Fully flavored options deliver savory taste in a flash
- ► Lower sodium choices so everyone can enjoy the comfort of a perfect side

oh-so-comforting

CASSEROLES

- ➤ 50% less sodium with 100% of the savory taste your customers know and love
- ▶ Real food, real flavor, with no artificial colors or flavors
- ► One-pan prep your staff will love

pack-a-nutritional-punch

BEANS

- ► Authentic, simple ingredients, with no preservatives or artificial colors or flavors
- ► Made-from-scratch flavor with quick, easy prep
- ► High in protein, fiber and minerals

plant-based

PROTEIN PASTA

- ► Legume based pasta with packed with protein
- ▶ Three simple ingredients, vegan/vegetarian and gluten free
- ► Delivers all the comfort of traditional pasta

FOODS











				PREPARED YIELD		SERVINGS						
DESCRIPTION	SKU	PACK	NET WT (LB)	LBS/ PKG	LBS/ CASE	PKG	CASE	KOSHER	HALAL	ALLERGENS	GLUTEN FREE	
MASHED POTATOES												
Brilliant Beginnings® (Scratch quality potato base)						4 oz. pr	epared					
Mashed Potatoes	10630	6/26 oz	9.75	7.6	46	30	180	PAREVE OU	Υ	None	Υ	
Potato Pearls® Fully Flavored			'			4 oz. pr	epared		·			
EXCEL® Original Butter Mashed	76468	12/28 oz	21	10.4	125	42	504	OU-D	Υ	Milk	Υ	
	10056	1/40 lb	40	237	-	949	-	OU-D	Υ	Milk	Υ	
EXCEL® Creamy Butter Mashed w/ Skins	10040	12/27.16 oz	20.37	9.8	118	39	468	OU-D	Υ	Milk	Υ	
EXCEL® Redskin Mashed	10349	8/32.5 oz	16.25	10.6	85	42	336	OU-D	Υ	Milk	Υ	
EXCEL® Gold Mashed	10379	8/31.9 oz	15.95	10.6	85	42	336	OU-D	Υ	Milk	Υ	
Nature's Own Mashed	10169	10/29.3 oz	18.31	10.5	105	42	420	OU-D	Υ	Milk	Υ	
Country Style Mashed	81056	12/30.7 oz	23.03	9.9	119	40	480	OU-D	Υ	Milk	Υ	
Golden Extra Rich Mashed	53498	12/29.6 oz	22.2	9.9	119	40	480	OU-D	Υ	Milk	Υ	
	14110	6/3.7 lb	22.2	19.7	118	79	474	OU-D	Υ	Milk	Υ	
	70659	1/50 lb	50	266	-	1064	-	OU-D	Υ	Milk	Υ	
Mashed Sweet Potatoes	10861	10/26.7 oz	16.7	5.8	58	23	230	OU-D	N	Milk	Υ	
Potato Pearls® Lower Sodium	Potato Pearls® Lower Sodium 4 oz. prepared											
EXCEL® Original Butter Mashed - Reduced Sodium	10799	12/28 oz	21	10.4	125	42	504	OU-D	Υ	Milk	Υ	
Smart Servings™ Mashed w/Vit C - Low Sodium	10426	12/26.5 oz	19.88	10.2	123	41	492	OU-D	Υ	Milk	Υ	
Extra Rich Mashed - Low Sodium	81837	6/3.55 lb	21.3	19.5	117	78	468	OU-D	Υ	Milk	Υ	
Value (High-volume preparation in a mixer)						17g	dry					
Mashed Potatoes Complete w/ Vit C – Low Sodium	10215	6/5.31 lb	31.86	29.9	180	142	852	PAREVE OU	Υ	None	Υ	
Mashed Potatoes w/ Vit C – Low Sodium	10217	6/5.75 lb	34.5	34.7	208	154	924	PAREVE OU	Υ	None	Υ	
HASHBROWNS 1/2 cup prepared												
Russet Hashbrowns	10084	6/40.5 oz	15.2	10.9	65	70	420	PAREVE OU	Υ	None	Υ	
Seasoned Hashbrowns	91291	6/37.5 oz	14.06	8.8	53	45	270	PAREVE OU	Υ	None	Υ	
Redi-Shred® Hashbrowns - Low Sodium	71341	6/2.5 lb	15	7.6	46	55	330	PAREVE OU	Υ	None	Υ	
Potato Pancake Mix	10017	6/24.27 oz	9.1	4.5	27	23	138	PAREVE OU	Υ	None	Υ	
CASSEROLES 4 oz. prepared												
Au Gratin Potato Casserole - Reduced Sodium	20922	6/2.25 lb	13.5	11	66	44	264	None	N	Milk	Υ	
Scalloped Potato Casserole - Reduced Sodium	94595	6/2.25 lb	13.5	11	66	44	264	None	N	Milk	Υ	
Shredded Potato Cheese Bake - Reduced Sodium	33787	6/34 oz	12.75	9.9	59	40	240	None	N	Milk	γ	
BEANS	BEANS 4 oz. prepared											
Vegetarian Refried Pinto Beans	54914	6/27.09 oz	10.16	5.7	34	23	138	None	N	None	Υ	
Seasoned Vegetarian Refried Pinto Beans	10166	6/28.1 oz	10.54	5.8	35	23	138	None	N	None	Υ	
Smart Servings™ Vegetarian Refried Pinto Beans - Low Sodium	10302	6/26.25 oz	9.84	5.6	34	23	138	None	N	None	Υ	
EXCEL® Refried Pinto Beans - Smooth*	82948	6/29.77 oz	11.16	5.9	35	23	138	None	N	None	Υ	
	11398	1/50 lb	50	157	-	630	-	None	N	None	Υ	
Refried Pinto Beans*	67245	6/29.77 oz	11.16	5.9	35	23	138	None	N	None	Υ	
Seasoned Vegetarian Black Beans	60045	6/26.9 oz	10.09	5.7	34	23	138	PAREVE OU	Υ	None	Υ	
Quick-Start® Vegetarian Chili	10298	6/20.8 oz	7.8	6.3	38	25	150	PAREVE OU	Υ	None	Υ	
PROTEIN PASTA						4 oz. pr	epared					
Lentil Penne	10847	2/5 lb	10	7.4	15	29	58	PAREVE OU	Υ	None	Υ	
20	. 55 17	2,310	. 0			/	50		, , , , , , , , , , , , , , , , , , ,			

*Recipe includes lard

For nutritional information, visit **baffoodservice.com** or reference Category Sales Brochures